AQAH

FURTHER MATHEMATICS

Level 2 (8360)

Worksheet 2
Geometric Problems and Proof




Our specification is published on our website (www.aga.org.uk). We will let centres know in writing
about any changes to the specification. We will also publish changes on our website. The definitive
version of our specification will always be the one on our website, this may differ from printed versions.

You can get further copies of this Teacher Resource from:
The GCSE Mathematics Department

AQA

Devas Street

Manchester

M16 6EX

Or, you can download a copy from our All About Maths website (http://allaboutmaths.aga.org.uk/).
Copyright © 2012 AQA and its licensors. All rights reserved.

AQA retains the copyright on all its publications, including the specifications. However, registered centres
for AQA are permitted to copy material from this specification booklet for their own internal use.

AQA Education (AQA) is a registered charity (number 1073334) and a company limited by guarantee registered in England and Wales (number
3644723). Our registered address is AQA, Devas Street, Manchester M15 6EX.


http://www.aqa.org.uk/

AQAH

@ Geometric Problems and Proof

Question 1

SQ is a tangent to the circle at Q.
PR =QR

Not drawn
R accurately
S
Prove that RQ bisects angle PQS. (3 marks)
Question 2
PQRS is a trapezium.
Angle PSR = angle QRS
Not drawn
accurately
P N
Vd
S > R
Prove that PQRS is a cyclic quadrilateral. (3 marks)
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Question 3

p:q:r=4:6:5

Not drawn
accurately

Work out s. (5 marks)

Question 4

O is the centre of the circle.
AOBC and EDC are straight lines

E Not drawn
accurately
D
X 2X
| U | |

Prove that 4x +y =90 (4 marks)
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Question 5

QS bisects both of the angles PSR and PQR.

P Not drawn

accurately
S

R
Prove that QS is a diameter of the circle. (4 marks)
Question 6
RSX is a straight line.
XT is a tangent to the circle at T.
SX=ST
Not drawn
accurately
R
S
X
T

Prove that triangle RXT is isosceles. (3 marks)
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Question 7

O is the centre of the circle.
AB bisects angle OBC.

Not drawn
accurately
A
/ﬂ ’
B
Prove that y=90+X (5 marks)
Question 8
RTQ, RSP and PTV are all straight lines.
PT = PQ
Not drawn
accurately
Prove that PTV is a tangent to circle RST at T (5 marks)
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Question 9

ABF is a common tangent to the two circles at A and B.

CDE is a straight line.
AC is parallel to BD.

Not drawn
accurately

Prove that AD is parallel to BE. (5 marks)




